Name:

Unit 10: Circles

Date:

Homework 1: Parts of a Circle,
Area & Circumference

** This is a 2-page document! **

1. Give an example of each circle part using the diagram below.

G a) Center: v ¥ h) Minor Arc: *ﬂ
H e—
> b) Radius: ____\.LL * i) Major Arc: H/L;J
I yeychord: dL * j) Semicircle; I ¥
d) Diameter: I %K) Central Angle: <J'¢-
J e) Secant: &___; ¥ 1) Inscribed Angle: < VJ L
f) Tangent: &0 % Several  Argwus
L g) Point of Tangency: __JJ oSS ke
Directions: Find the area and circumference of each circle below.
2. 3. _
A=TI7)? A=TUSYZ
A= 2 (153,042 ‘ A =226 2106 8LHE]
¢=21(7) c=21 (15
C=MT % C=30T 2| 4. 254+
4. 5.
- 2
A= 20.25T X|(,3.(,2 ni{
A= loq.04T x|22.85i ‘ u_
¢= 2T (10.2) C= ZTI'H-S)
C=7_o.41rx C-’-OlTT’XJ.ZX-Z’lm{

Directions: Use the area and circumference formulas to find the radius or diameter.

6. Find the radius of a circle with an area of

7. Find the diameter of a circle with a

615.75 square kilometers. A =TTr2 circumference of 15.71 yards.
L1515 = TTy2 =21
T vl 5.1 = 21T
21T 27T
Ay =r* r=1km | 2.5=r d=5yd




8. Find the diameter of a circle with an area
of 415.48 square inches.

His- ug = Trz

- T
122.26 =vZ
1.5 = Id=23'm}

9. Find the radius of a circle with a
circumference of 125.66 feet.

125. Ll = 217
27T 21T

10. Find the diameter of a circle with an area
of 240.25x square millimeters.

240,257 =Tr2
T i
2440.25 =r 2
5.5 =V

d=3lmm

11. Find the radius of a circle with a
circumference of 45x centimeters,

4o = 27
21T 27

;Z'ch'on“”

Directions: Use the information given to find the area or circumference.

12, Find the area of a dircle with a circumferance
of 11z feet.

13. Find the circumference of a circle with an
area of 676xn square millimeters,

1T = 27T A=T(5:5)> WWT-II[_{-?‘
2177 2T = 20.25T1 T , C=2T 26
. =13 = 8271
5.5 =r qu 5. 03447 o 2
2 = = 163.3mpm )
14. Find the circumference of a circle with an 15. Find the area of a dircle with a

area of 1,134.11 square meters. circumference of 53.41 inches.
3400 =Tv*  cz2mig | B34 =2Tr  a=q(8.5)2

i = 28T 21 27 = 712251

3 (l ' = V?- 2.5‘ -V

14 =v




Name: Unit 10: Circles

Date: Bell: Homework 2: Central Angles, Arc Measures,
& Arc Lengths
** This is a 2-page document! **
Directions: Find the following arc measures.
" LD wbE =_104° 7y =_19°
(_ Jﬂ'ﬁ = Ib: m’Q‘R\ = |55.
mDEF =_180" s = I°
N 3 gk - 385"
Fow mDFE = _256° mkQT = _22H4"
T =23 |* o w0 = _11°
mioN = _20%° \;‘EU ’ ""‘E= 125°
m@ =_‘ﬁ 55° }55 mXTW = 235’
WINL = B3 x . i = _55°
miD = 197° ik mfwd=_ 343
Directions: Find the value of .
5. - 6. _
J 31’;{ O\X +9{ 1% 4 (2lx -9) 2—”‘("0‘ - l rl
Ay = 12 2\ = 120L
— E B
hox v 237 X 2|4 Y=l
A C
¢ xX= lq ’ §7° X= lﬂ
Directions: Find the value of x and each arc measure.
7.
12X-29 =130 x =1\
£ . - ]
. -9 12) = Ij_og nDE = ‘l‘?"
- L‘? mE. =
¢ X mDFG = gq—r
(12x - 25y
8. . _ - -
M(mx"‘siv ]Dx L‘S ) ux I x = ﬂ
' By 45 = - il =65
‘ IVEET avP =_\15°
) . Xz=il mNgP = _2456°




9.
o & Iy -29 = 205 . < 2]
|4 = 294 ek = 7
ox-2y -y \= 2] i -
y T,
K 3 mGKJ =_201°
0, 31%-0 =270 g
12y QZx+5)° 3IX =,_21q miD = |Og°
c X =9 mBC = 23°
D mbC =134°
(17x - 14y mbBC = 221°

Directions: Find each arc length. Round to the nearest hundredth.

11, If 7R = 11 ft, find the length of PS.
V&l JE \b4- 22T

W'
P 240
1%’ - 3(008 Tr
S
o - 300

%Jg.b\q F%!

12, If MK = 10 m, find the length of MKL.

s A7 _Q_:'- 218 <1017
’ 200
= 2|07
M 3k0

31402 W

13. If YV = 28 i, find the length of 7YX

14. If AF = 23 c¢m, find the length of EC.

N, Exe=T e 4= 234
v —_< .
320 87 3L 0
' s = 84l " = 42T
30 V! 3u0
200
o~
MUc.al in H
AL




Name:

Unit 10: Circles

Date: Bell:

Homework 3: Chords & Arcs

** This is a 2-page document! **

Directions: Find each value or measure.

1. If RS = 59 and ST = 10x - 31, find a.

yY-31 =59 @

2. If m/K = (7x - 39) and mML = 87", find x.

X-39 =¢7
MY = (26

X =90
X=9
3. If mAD = 85" and mBC = 31°, find the value
of x.
203X -21) = 944

2l X -H2= 244
2uX=2%0

f)(:lli

95
o

Omu

(13x =21

4,1 IM =41 -2xand NP = 7x + 5, find LM.

HI-2X="1xX15
Blp-2X =X
3L =AY
4 =x

M= H|-2(4) = 23

5. If mUV = (8x — 17) and mWP = (5x + 52),

lln"l

m WV = 5(23) 452 =

6. If DE = GF, HJ = 3x + 20 and Jf = 15x - 64,
find JI, £

IX+20 = I8X-leY

20 = 12% -l
Y =12X "N
T =X

Ji= 1507 by

find mWP. G ¥
X-11=5X+512
d¥-1"1=52
AX = (af’J L
X =23
7.1t mBC= (9x — 53) and mCD = (2x + 45),

find mBAD,
W-523 = 2+45

g 1

3
y c
13
D

IX-53 = 45
X =98
X=H

8.1f mLM = (8 ~ 56)° and mNP = (5x + 22),
find mLP.

-5l =5x+422
3IX Sl =22
32X =8

x-.-.Zl,, Ly

M39°N

)
-

61.' el

:‘ — l"
ml-ﬂ :?(Zb)-“b_b T B2 Lm.ll:fo-

LY

MBe = 4(H)53 13 maAD 24




9. If JG = JF, GD = 13, and mCD = 136, 10. If YU = YV, ST = 16, mQS = 34",
find each measure. and mRT = 98°, find each measure.
D= 2V ' ou=_8%
p cF= 13 : OR = ”.0,
D mED=_130° mﬁ\=_|."'l_o
E m@= lg® m’é}};L
f n@: 880 "ﬁ\= 5‘10
11.1f PO = QR, JK = 3x + 23 and 12. If DH = HE, mBG = (9x — 20)° and
LM = 9x = 19, find PK. . mGC = (5x + 28, find mAB.
B
= O 4
Oly-( _37)f+ 23 Oy-20= 5x +28 .
X (| e
X"‘" s X=12 A c
JK= 300423 = 44 mBe = all2) -20 = 88°
Pz 22 Enﬁla =100 |
Use the circle below for | 13. Find NK. 14, Find mMR.
questions 13 — 16. 024y 2 - 152 COS‘j =°|/‘5-
' gl+x2 =225 y= Cos™ (Us)
X% =144 ':’j =524 °
=|2 o~
[’_J.Ngm_ [ MK = 5317
15. Find JX. 16. Find mJPK.
2(12) = 2‘4 2_(63'): 10(s. 2




Date: Bell:

Unit 10: Circles

Homework 4: Inscribed Angles

** This is a 2-page dacument! **

Directions: Find each angle or arc measure.

1| J 2. A 34"
¥
7 win= 110 ° 8 mzABC = 11°
3. 86 v 4, ‘g‘-l R
\__
156 ¥ BIZWX..Y = Bq ° 171" m,ER_.-S‘\= ,06
5. D 6. & gy
6 |
@us mZGHI = 13°
Pk aiE- 54° | 1 v msGl= _12
7. B 8.
mzQ = 39°
med = 14° sk < 123°
msB = 2 ms8S = q,o

Directions: Find the value of x.

P LT7 B0 Py T = L (40
’ LT = 8x-5 TN Ixa= 23
T2 €% . = )4
v ‘ O =X f M ‘ X=2 ‘
Sxr2 = (2'34) = ar-2y  VIX-202 ),

q?:'.s,, 5x+2—m
4

(.8

a r a
75
z 13°

\

=g
=11




2(4 1) = ax-14 14 1x+2|— 123

108 =AX ¢
w l —lw
9: 14y ]2:)(

U

A

15.If m£DEF = (6x + 37)° and mFGD = (19x — 31), find m£DEF.

2(lx+ 3T =1aX-3 | M<DEF =
12X 474 =101 -3 ] LUSI+3T
74 = TIX-3]

105 = "IX
5 =X
16. If m£STU = (13x — 6)°, mSU = (21x + 8Y, and mUT = 143', find mST.

> 2(1BX )= ZIX 4§ mste = 21(4) +8 =q2e
V' 2X-12 =2 X8 —
B¢~ 12 =g MST =125°
\

5EX =20
X =H
17, If msLMP = (5x — 19) and m£ZLNP = (2x + 11), find mPL,
L EX-19 = 2X+1] MLLMP = S10d719

N

7

P

h\ 2% -1 =1 = 30
Af 3X:30 ——
. X = 1D mb =2(31) :(029/

18. If mcP = (4x— 1) and mzZR = (12x - 27)’, find mQPS.

</

Zalll’

)

o

1213)~27]

o | X -2%¥ =80 m <K
, " X = 208 I2a°
X =13 ~
5

mEes = 2(124)

(= 2587

u




Name:
Date:

Unit 10: Circles

** This is a 2-page document! **

Homework 5: Tangent Lines

Directions: Determine If X7 is tangent to cirde Z.

1, ¥ O‘U2+\2g2:[(,2 2, 824.103'-:-132_

= 25, v/ 842 | pd #1

25 = 250 *‘6 (A

( 10 ' |

[jt’S 5 Wb -

!
3.
524+ 1% =252 2.1 $3.62* =4.5?

20 .25 =120.256

yes /

Directions: Find the value of x. Assume that segments that appear to be tangent are tangent.

5.
x —
A 14

6.
—s

%

Q%+142 =x2
277 =x2

XZ+H.2* =182
X2+ 200 v =324
x*=122.26
l)('-'li.lz

xZ+i5* =322

1L00 =y 2 S X%+225 =024
0= 32 X2=199
p= x+24 X‘—‘23-3|
X=1
10. 24202 oy 2
‘{2'+ 2.2 =2)2 9 A<+ =X

V4 152,70 = 4]

B = X2

26 N+ 282.24
21 \l=1lp-g
%= 108 |y= 9.4




X2 4122 = (x+6)?

11.
12 X2+ = XZH12X +30
8 gy = 12X +3 0
108 = 12y

‘Q_-“:Xl

Directions: Find each value or measure, Assume that segments that appear to be tangent are tangent,

12, Find WX, 13. Find the perimeter of ABCD.
e 2%+ = -2 a

’ lp = 5%-24
Tx=29 L}5 6')(

wX=TA) 29 =|34

14. Find FD. Hy+ll= 13% - 12%423%=y2
7:1 ax 132y 2
E 4x+u ED= H(3)+]
-....7_3
15.1f PO =dx + 2, OR = 7x- 19, and QU 34, find ST. > 5

I "3% Q00 +X%z |5
X2=25,
fa = HN+2 x=1e
Q= =30
lST=37_l

16. Find the perimeter of AJKL.

_1\‘_,q..__.2_\’+” EX=-8 28X ~35
Sy =20 27 =3x%
y=d 9 =X

IM =5(q)-g = 37
OK = 2(4) +1!
= |6|

139




Name:

Unit 10: Circles

Date:

Homework 6: Arc & Angle Measures

** This is a 2-page document! **

Directions: Find each value or measure. Assume that segments that appear to be tangent are tangent.

5y -1 = Z(1HL)
Sy-1 =713
5X =80

]X:Ho’

1. mZYZV i 2. mAD
;
Z (4 1) e A3= 5 (161+%)
5(25%) \ AR bl 0
EES
3. mOS 4, msJLK
m QTS = 20128) mJL- = b2° | L
= 250 med LK = (62) ™\ )
[ = 10w [Fzr]
5. mZEFG 6. mZTUV
=(121-33) +(252-10%)
= (82) L (194)
|=”-I {° f 72°
7.mCF 8. mHJ
633—5();..:_“') 2225 (9 b -x)
\Db = X-Y] 5;83 %o -X
0 - - =¥
“41=X}
&:ggo{
9. Solve for x. 10. Solve for x. w
BX-T=%019+ 27) 73%~3=204 —
233 = 207 Q-

(23« - 3)

[x=4]




11. Solve for x. - 12, Solve for x. 24°
=4 22 . I
71" 2(B-32 1718 -23 = S (2085 ?
2x+1 = L (Hb)
2% +71 =23 | 1X728 = (124)
2% =1 b e o7t IX-23=062
"1 X =p5

13. If mED = (9x — 3)", mBF = (15x = 39)", and m<BCF = (11x — 9)’, find mED.
-9 2 @ x -3 t15%-3a)

22X -1 =24x-42 mﬁ)-%m)-_?
24 =2X | = !DS")
1 2. =X

14, If mWVX = (13x + 9)" and mZLWXZ = (5x + 36)’, find mLWXY,

2(5X +30) =13x+9 me WX Z = 5021 43¢)

= 14!
IDX 4712 = 13X+9
(3 = 3x (W\wa\{:soﬂ
21=X '

15, If mOT = (27x + 3)°, mRT = (9% = 5) and m£RST = (10x - 2)°, find mR1T.
0x-2 = 5 (271x43 ~(Ax5))

r 204 -4 = 18X t¢ mET =al) -5

Q AR VA R-—-'-lal")
R X =l

16. If m2JKL = (8x = 9), mJL = (12« — 28Y", and mIML = (25x ~ 13", find miJML.
X X9 = % (28513 - (12X -28))
ML= 2501013
J L oy ~1§ = 1A% Ti5 w JM L
2y.= 33 [F2uz]
¥ adl




Name: Unit 10: Circles

Date: Bell: Homework 7: Segments Lengths

*¥ This is a 2-page document! **

Directions: Find each value or measure. Assume that segments that appear to be tangent are tangent.

1, Solve for x. 2. Find FD,
21-%= q-2| 12{2x-5) =158
21x=1%9 ALY -0 =120

[E] 3uo
‘Eb=22

£

3. Solve for x. 3. Find US.
19(x4+2) = Zo(lpx+3) Lo w) | H2{x+10) = 30(3%+1) .

12X +3b= 120X Tlo 42X +44 2= %x+3o
bx =24 432= 48x

Us = 58}

o

5. Solve for x. ,_ | 6.Find MN.
XN =3 - 21 o | 10-19=a (2x42)
T = lug I0 = 18x 413
Ix =19 [{L2=I8X
%) x=]
[MN = 1]
7. Solve for x. 7 8. Find YZ. z
A(X+12) = T loy+) ‘ lax+1$) = lolx+13) fwin
0‘)"\"} 08 =HZX + 82 b 12x 4 108 = DX +130 “’u
LG T 33% 2X= 22 v
)(.‘:]]’

X=2]




9. Solve for x. 10. Find AC.
12 2~
182 = [2(%+12) @ 152 = O (X +10) y "ls
18 225 = 21X 190
324 = 12% +144 135 = 2 x Gl
130 =12x =5
ACE 251
11, Solve for x. . 12, Solve for x.
X+ = 2(50) | €x)%= 19(32) O
Z -
[ X= 20| XZ%=9 *

[x=3]

13. Solve for x.
K -2DXH) =9 - 20
Y 2+HY~12Z =180
x®+4X -192 =0
(X 41 X-12) =0

e [

!

14, Solve for x.

2 (21 =(x+9) (shersd)

210 = HYZ 4 200+
0= H4Y2 +20 X~ 200
0= H( %2 +5%-5D)
b= X X-5)

ol 2]

15. Solve for x. 16. Solve for x, 547
152 = X (X)) \ ] (x4 = gl 22) W
225 = X% ey - X*114y +49 =576 \

6= X2 +llox-225
0= (X425 %-2)

X=5 5’@

Y2414y - 5271 =0

(x+3D[X-11) =0
x-_-;/él =17




Name: Unit 10: Circles

Date: Bell: Homework 8: Equations of Circles

** This is a 2-page document! **

Directions: Use the information given to write the equation of the circle.

1. Center: (2, 8), Radius: 3 &-2)*? +[Lj-€31 =9
2, Center: (S, -13), Radius: 11 (x-5)* +(y+1D* =12
3. Center: (-9, -7), Diameter: 3¢ =11 (A +(u4N*=289
4. Center: (-8, 0), Diameter: 5 7=2-5 (1) +y? =b2s
5. Center: (0, -16), Radius: 15 X*+ (uripd? =15
6. Center: (12, -1), Radius: 4209 X-12* +Hy+ N =209
7. _ 8.
("3 l(i) (\ (Ol _.2_)
r=2 = R~ r=b
Y \\
Fi
Vi
\"\.._ _//
(x+2)2+y-* W2 +lur)?= 3L
9, Center: (-10, -4), Point on Circle: (4, -2)
v 0= \[-Io-4) > +( 4 42> (XA10)%+ (Y +h>= sz
=\ 1a0+4
= \ 200
10. Center: (-3, -3), Point on Circle: (-11, 2)
rod= (- 240.3-2)2 |
NEAHD 432 (X-M)z"\'flj%)z:?-‘l/

= (y225
TS




11. Center: (5, -7), Point on Circle: (-3, -1)

rad= B+ +(- 102
- fﬂr} ¥ 30 @'5)2 +lytn = ‘DE,(

= N1DO
=10
12, Center: (8, 2), Point on Circle: (14, -1)

rads \(g-#)? +(Z40F D)’ 2 _ J
Y—8) +(3—2) =45
=3, + 9 r
=45

13, Center: (10, 7), Circumference: 14n y="1 | 14, Center: (0, -1), Circumference: 251 1= LS

(X-103* + (y-D* =49 X+ Y40 = 16025

15. Center: (-4, -5), Area: 400n v 22400 | 16. Center: (-6, 2), Area: = r*=)

()% 4 (y15) 7 =400 (et +y-2)* =

Directions: Given the equation of the circle, Identify the center and radius or diameter.

17. (x- 9P + (y— 472 = 36 Center:_ (4. 4) ; Radius: ___{

18. (x +1)2 + (y— 1) = 196 Center: _(=1,1) . Dgggten 28
19, (x + 6) 2 + )2 = 90.25 center: _(~l¢,0) . Diar;e%ef: 19
20. (x-2)2+ (v + 13)2 = 150 Center:__ [2,71%) ; Radius:__ 15D

21. Write the equation of a circle with diameter endpoints of (13, -1) and (-15, 9).
Midpoint |Center: radius: V(13402 +{<1-D*

3-Is -
(I'5-[§’ =) =\ \aL+2s

(k) + (y = 22

l-llL}) :{2/2-]




